COURSE A netlanguages®

10 Dinosaurs

1. Opposites. Complete the information with these adjectives: enormous,
fast, harmless, plant-eating and tiny.

Triceratops wasn't small; it was big!

Stegosaurus wasn't meat-eating; it was !
Maiasaurus wasn't dangerous; it was !

Stegosaurus didn't have a big brain; it had a brain!

Tyrannosaurus rex wasn't slow; it was very !
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Argentinosaurus wasn't small; it was !

2. Tyrannosaurus rex. Complete with had or was.

The Tyrannosaurus rex 6 metres tall.
It two long legs.

It didn't have long arms; it short arms.
It an intelligent dinosaur.

an enormous head.

It a big brain.

It very dangerous.

It sharp teeth.
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It a meat-eater.

10.1t the king of the dinosaurs!
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3. Writing. Read the description of the Tyrannosaurus rex. There are 10
factual mistakes in the text. Copy the text and correct the mistakes.

The Tyrannosaurus rex was the king of the dinosaurs. It was a harmless plant-
eating dinosaur. It was 6 metres short and weighed 7 tonnes. It had three long legs,
two small arms and a short tail. It had a short neck and an tiny head. It had a big
brain and was an stupid dinosaur. The Tyrannosaurus rex was harmless because it
had blunt teeth and it was very slow.

Tyrannosaurus rex
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ANSWERS
1. 1. plant-eating 2. harmless 3.tiny 4. fast 5. enormous

2. 1.was 2.had 3.had 4.was 5.had 6.had 7.was 8. had
9.was 10. was
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